
LO: I can find a fraction of a set of objects. 

SC: I know that the denominator (bottom number) tells me how many groups to divide into. 

       I can share out the total number equally. 

       I know that the numerator (top number) tells me how many groups to count up. 

 

1) 1                                

3   of 18  =                    

 

2) 3                                

4   of 16 =                    

 

3) 3                                

5   of 30 =                

 

4) 5                                

8   of 24 =                  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  


